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ltnttrurLnrtr tqntphp
22853000 tlqpurqurtrur! gurrt uu hurtn 700 7,0 10
22851200 t&ryauqurlnu\ uu hunn 8s0 22,1 26
24917200 Unulrh&, hfnr-plnu uu hurur 900 9,0 10
30141200 Zur2rluruurpp, qpuruthlurlurrhtr riu hurtn 3000 6,0 2
30792127 +pfr1 qtrafrlqullnp uu hurur t20 12.0 100
22810000 qpurtrgulfiuurlurh uu hunn 2000 28,0 I4
30192130 Uuufnntrhp uu hruur 250 5,0 20
30192160 C*pltlo UU hunn 200 2.0 10
30192700 tiu{}rd uu rnmrh 500 100.0 200
30192740 tdnqp qmhul]np ,{4 &hurlullrfr uu rnnuh 1500 15,0 10
30193700 tdryaur4rupurl1, hurp\hpnr], u;1 uruurr.fuuh uu hurtn 4000 20,0 )
30197111 rr*pltlh rfhuru:.qur1 urnh bumJ hn, finpn uu tnnr-rJr 100 1.0 10
30197112 q*Fttft rihuurrlurlurph \urq hp, dhphlt UU rnnuh 200 2.0 10
30197237 b*JL uu hurr.n 10 10,0 1000
30797232 tdryaurulurhur\ urpurqur! urp UU hunrr 170 L7,0 100
30197327 k*ptrt, ilfh2h 20 ptppir hunlurp uu hunn 1200 6,0 5
30197340 Gqu\urpfrl uu huru 250 0,0
30197631 fantrya A'4 $nprfururlr I/21x29.71 uu urmrh 2200 220,0 100
30199420 f+ml p, h2nr-rihhplr hurr.Iur, unuh&rl UU hurtn 300 5.0 20
30237470 Uurhqtrur2urp, uururL4urprn uu hurur 3000 6,0 .)

L

302374I1 UqhhU, hunfur\urpq)urthh, I ulnill uu hurur 2500 7.5 3
3924t2I0 U\purur, qpuruhh3ur\urlirh uu hurn 200 1,0 5
39263200 Qpuuhhlur\urllrtt qlrnp, tlururpuh T0-200 t2

unqurhfr
uu

hunn 1000
10,0

10

39263600 Qp2unnnr-rlr, qpuruhhlur! ur1 |rtr UU hunn 700 7,0 10
30192700 lphtrur\urtr q fnnntlphtp uu hunn 41800 41,8 I
39263310 Qpurgmlg uhrluhfr uu hurur 1500 1s,0 10
22991181 {urunfurh uu hunn t40 2,8 20
30192232 uhn) uu hunn 300 3,0 10

tnupf$|r\urgfnh gnr-gur\ uu hurur 1000 5,0 5
39263400 Udpu\ UU rnnuh 500 7,5 15
39292510 €urhntr, rqluruurlr n hrrrr n 3so q?



Cbnturfbtrn 500,0

thtrorun tur htr ruur nruhpbhn
t9642100 qlnr hhBhr htrurrhtr purq urtrp UU tlhun 300 18,0 50

391 i1 140 UBnnhhn q2 hurur 20000 2400,0 120

18141000 Ilhurhtrh d,hntrnq uu hutn 250 30,0 t20

18141100 Uctuunnurhpruthtr &hnlinqhhn uu hurur 200 24.0 720

18421130 Qhnhnqhbn uu hurur 800 24,0 30

31521300 Luniut 100r]ur UU hurur 100 10,0 100

31s31300 Shtnhunn turtlulhn uu hrurn 2200 1 1,0 5

31531500 thnhtrurrhtr t unftrl 60ur-i UU huru 450 22,5 50

3i531600 Shnhlrurthh turr-iu1 120uil uu hrurn 500 5,0 10

33621641 Zurh urtrhtuhy h urluururh*lth: .lh:"g!Ep uu hr.uur 600 18,0 30

33711240 Uh&hnnglr\ uu hruur 200 20,0 100

33761100 gmqurnubh Bnqp uu hunn 100 10.0 100

39221470 Urr trhliqurnruthh rJurpnnq ulurpurqurhhp UU hunn 600 90,0 150

39811100 Onh raurnriurqntqh lhhn UU hurn 500 5,0 10

39831241 Cdurn &hnph uu hrutn 100 10,0 100

39831244 Odrun tnhrnhuurLurh UU hurr,n 150 1,5 10

39831245 Odrun hhnnr-h LIU huru 450 9.0 20

39831246 ZhnntL ldurgnt rlhPng UU hurn 1500 15,0 10

39831247 Uluururhurhnrl hhqnr-\, uurhhurtrqntp[ uu hruur 850 25,5 30

39831271 Urunttrq UU huln 150

60

3,0 20

6,0 100
39831271 Uu:nthq uu hurr-n

39831278 Uru uruph t rlurqriulb th"zh uu hurn 250 2.5 10

39831280 Uluurtrh durpnht nr- dhlng UU hunn 350 4) 72

39831281 Uruurirh rlurpnrlurtr t urP uu hunn 100 1,0 10

39831283 lurtnur! h t rl rug&rtt-ftup uu huln 200 1,0 5

3983s000 Zunnur! rftupphlnr- 6'nq, qpruudurg! uu hunn 1000 2,0 2

39836000 Utlht, unrlnnurhurtr uu hurr.n 1200 24.0 20

39838000 Urlht qnqruphurllh hh*, qtqlg*.I**E UU hrutn 2400 4,8 z

39839100 $ncurBhuh, tuqpp hul]ruph1n. hqdurl uu hurur 1400 2,8
oz

39732220 rrurlulrjrtp uu hurur 300 18,0 60

39721500 h1h\urpur\urlt **Pqgllght UU hurur 9500 76,0 I
31531300 I.urtfq 60uri UU hutn 450 22,5 50

44831100 Uurbnr-burhtrhp ( ilruurnf \ iuhhp ) uu lnulnul 6500 6,5 1

Ctrnrurlhhn
2922,8

?lhhurmnnurt urh urut ntutrphhn

249r720C Unuhh&, lrinr-lulrut UU hq 1100 11,0 10

24951130 Uhrhtrntt uu hurur 1200 6,0 5

30192210 F hphurhq lnth dunrlun]htr uu hurur 500 8,0 T6

31211180 Urlumrlurur urhgunn[1 UU hunn 400 4,0 10

31227230 Uhurqduh rfurtnr-hhhP uu hurtn 600 9,0 15

31441000 Utunurhnqtrhn UU hurn 3800 7,6 2

31683400 bnurpur2iufrl uu hunn 1600 14,4 9

31684100 .{urp+urL, hp\ ptrhnurtr} uu hurur 800 8,0 10

31584400 .{tunnutt uu hruu 100 5,0 50

31585000 hr hhurnurburtr hp\urprugrfurtr I utn uu hunn 1700 5,1 3

44411700 CnnurLhtn uu hunn 8000 55,0 7

42131380 OnnurLh rihqnr-h uu hurur 600 79,2 32

44r1r413 3nqurhhnll uu hq 8000 24,0 3



4479170C Utt qurtrurqtuh rhhurnuinurh urh htnrBhn uu hrurn 150 49,5 330
44t9210C @nrhntn zhhtunurnurh urh UU thurn 2000 24,0 12

44192700 Lhnhuiqtutrhlr, hhnb urrh hurlurn UU hunn 1800 3,6 2
44322240 Urutnr-lu 2.5ilil2 uu qbil 190 L2,4 65
42137260 riurnurLnqh rhurLrutr uu hurur 1500 36,0 24
44411742 9ntqurnruhurh ntrph r-thtuurtrhq ti uu hurtn 4500 36,0 8
44423680 G[h tlh2 oqnurqnpbr{ qurh ur3lurqpurbptr uu hurtn 200000 200,0 I
445211r0 @urhurtrhhn UU huln 8s00 51,0 6
42130000 lnh rhurhuih 32Ltil uu hruur 9000 18,0 2

42130000 rnh rhurhurL 50ild UU huln 13000 13,0 1

44521120 'Inurtr rhurburhhhn uu hurtn 8500 51,0 6

44521120 thurLurtrh rihqntL uu huru: 3s00 31,5 9

31211240 purnuipur2]ufr1 uu hrurn 2500 20,0 8

3r711250 Utuurntur hnnnrlurh uu obti 1s00 72,0 48
31711250 funnnrlurh uu qbd 900 27,0 30

44831500 Lmbhlhhn uu thr.nn 1000 2,Q 2

4r92630 Zhntntu uu obil 40 8,0 200
24917200 hrlnttuhur uu Uq 1200 7,2 6

39224550 Uurhhh UU obri 40 8,0 200
44571343 Qurrrhhnh UU obri 500 4,0 8

44991180 Vnhpurtlurhh qn$nh UU 2000 10,0 5

44112800 6.Lurhnnnrlurh uu qbrl 800 8,0 10

42131490 I.rl urquinurtrh uh$ntr uu hurr,n 2000 12,0 6

30199794 ShluLhbuburh urhlrrnr-tr uu qbil 1200 9,6 8

44831300 Zhntfhuhtr uu hq 1500 9,0 6

Chrludhhp 900,05
rlhqnpru3p

24311530 apurbtrfr qhpopu]r4 100ri13 % uu $1urlntr 160 0,3 2

24451t40 Uftnqh1 uu hunn 1500 30,0 2A

331412t7 trd2\ut\urh ur11 qnpb h qurptuqurhhp UU hurur 1500 7,5 5

33141110 .{,hnrubururhn uu hurtn 3800 3,8 I
33141 1 1 1 Uru hnurtrh /uruhuunlhL/ uu urntrh 60 1,8 30
33r41117 truninurb UU hunn 720 0,6 5

33t41129 lhriurb uu huru 30 0,6 20

33r41129 lhriurtr UU huru 160 38,4 240
3314i 131 donrur uu hunn 300 0,6 z
33141 134 trhhur uu hrurn 250 3,9 15

33141156 trdrLurLurtr &hnhnqhhn uu onl.lo 60 15,6 260
33410000 Uuun fhurnnr-durL urh hr nr-nhn UU hunn 500 1,5 3

3361 1 170 Lncruur N 10 UU urnu} 200 1,0 f

33631260 3nn uu $rruLnh 260 0,5 z

33660000 'Ihn hrurnn huril hurtluin uu hurur 1200 3,6 3

33661t22 'tlurmuohurunfnr 500tic N1 0 uu rnmrh 50 0,2 4

33671 138 trdrLuLub uru hnrn 96% 25O{t uu $rurhnh 400 r,2 J
33591176 Utt nhnnnurtp rJu hunn 1200 6,0 )

Cb4udhbp 117,0

3740000c Uq nnrnruthtr ruru nuhptrhn h uulTrptn
37467400 rrulutlurtn uu hrurn 2000 4,0 2

37451290 $nr-urnnth qhnurbhhn uu hunn 3500 3,5 1



37451400 trurnilhtrurnhh &hntrurnhurL trhn uu hurtn 2000 2,0 I
37451410 pruuLhrnnnrh qurhq uu hunn 1200 4,8 q
3731 r 190 Untl|ry UU hurr.n 700 2,1 3
3731 1 190 Um1|r1 uu hurtn 1000 3,0 3
37451580 .{,n1 h1pn1fr qhr}urbbhn uu huru 5000 30,0 5
37451410 trurultrhupnth qtrnurhhhn uu hurm 10000 20,0 2
3s331100 qtraur\hhp uu hurtrr 400 1,2 3
37451520 fdhhhuh chnurLLhn UU huiur 130 1,2 9
3745t7r0 phhhuh sulLs uu hruur 1200 2,4 2
3740000c uul nnururthh urq nruhptrhn tr uurnphn uu huru 750 13,5 18

Ctr4rurlhtrp 87,7

42121190 'tlnilu.l BP 8C-G - HP4 uu hunn 349600 349,6 1

44221100 brl pnru ururnr-hurhhhn uu ,J,/p 27750 999,0 36
35121 100 Uhrl ururliqnrtat urh hurdurL urno UU hunn 75000 150,0 2
35121100 zurndtiurh unlhl uu hrurn 6500 372,0 48
35121 100 qruhqtuhurpnn uunp uu hunn 35000 70,0 2
31440000 ilunurbnq uu hrurn 16000 32,0 2
31520000 &urttrurrhh rnrlhl uu hruur 5000 10,0 )
31521 160 1nr-uru3frh uqb: uu hurm 5000 10,0 2

31221230 tiurlntlu uu dhup 729 r29,0 100c

45311129 u2fuururruhp rfnlnnurd, rnhrlurrlpnui riu +Ftud 126000 252,0 2

44190000 ulltrJntphp uu 4purd 2500c 25,0 I
35121320 lpulr uhurulogh\tthp uu hunn 25000 300,0 12

3023232C nhuur&urj trurqFnrl uurFp Lru htuur 80000 160,0 2

3168222C uhnrgrlurh uurFp UU huru 12000 36,0 3

3851 1310 ,llr+hr prulnr-rf UU hunn 5000 20,0 Aa

30236170 hfr2nrlnr-p1nr-l: uu hurur 31000 93,0 J

45311129 ur2fuurururtrp tlnhururd, rnhrpuqpnrd uu 4Irurd 57000 114,0 2

31221230 tlurpnr-fu uu rihnp 242 138,0 570
3841 1200 2hprlurlullr uu hruu 60000 60,0 I

C\unfhhp 3259,6
Utrnrtr+

1531 1 100 9urnr.nn$ht qz Lq 775 529,4 3025
15831000 2ruBurnun]ruq qZ hq 270 136,4 50s
15333100 Sndurtnh riurbntb q, bq 580 776,9 305
15540000 'tlurhhn qZ Uc r370 1383,7 1010
1581 1 120 Zruq q2 Lq 299 2412,9 8070
15616000 lhnburd,unlrun }L hq 528 533,3 1010
03142510 2nr qZ hturn 48 969,6 20200
15331 142 Qurnurtip -fz. hq 90 r81,4 2015
1541220C Fnr-uurhruh burqdurh rnuhn q2 thrnn 535 540,4 1010
1585110C UtuLurnnh q2 Lq 280 282,8 1010
151 121 1C Ztudh bnbprutihu a.t Lq 1600 1616,0 1010
15614200 trnhbd qz bq 396 400,0 1010
15331 161 Unlu, qlnr-|u *L hq 200 101,0 505
15331 151 [.nph, hunnhhun]nn qZ hc 703 355,0 505



15331154 flrnn qZ hq 270 136,4 505

15331 153 .[Iuu qz hq 270 r35,4 505

15872400 Un, Lhnurhnh, ilurhn qz hq 175 35,4 202
15331163 6.ruhhnhn qZ Lrq 260 131,3 505

03221110 Qurqurn qz hq 250 126,3 50s

03222728 futr&nn qZ hq 300 604,5 2015

Ctatuilhttp 10788,7

Ounurnlrarnttrtrhn
50531200 a*qh uupphpfr qurhqurhtfurh

burnurrnrnrnilr
uu qpuiil 78800 78,8 i

797rtrtO Znchq urhrlururtromnrurh rlurutruro burn uu nnrurl 74000 74,0 1

50531 120 9urpuurS |r mhlubfr\u\utr
urhrlururhontrar urh rhnn&urohh.

UU 4Iruni 74t400 741,4 1

79132100 h1. uurnpurqpntpSurh hun{ruuururqpr.iurtr
hrrrnrrrrnr rarnr h

uu rlpuld 3000 6,0 2

90921000 'lhnururhq urohntr burnuuntrar nltr uu nnun-[ 5000 60,0 12

30125120 Snhhp Lnluuruluudhhurhurhnrl uu +Furd 7200 36,0 f

30721460 Sntrhnurrhtr nurmnnhs UU nnrur.I s000 150,0 30

65310000 h1h\urpur\urhntpl urh pur2funttf uu
trrl*
durr.i

45 3319,9 73775

65210000 *urqh puptunr-rl uu tu. d. 139 4869,9 3503s

651 1 1000 Qmlnu b nr nrn nr- burnurr ntrar nth uu tu. il. 173 663,5 3835

65000000 Un nurhurhnrrarrutr burnur nlrar nilr uu nnruri 26000 312,0 T2

92420000 Ohpphpnr-rf hurl ururpurpnr-p1 nr-hhhplr

nu: uro.ntfurh burnur nlrar nrtrhhn
uu +purd 6000 18,0 3

723rr130 Zturlurhurnqlurthh burnrulnrrat nr-trhtn UU nnuril 95000 95,0 I

22210000 ohnphn, urtluruqnhn uu nnturl 4400 52,8 T2

79631400 Uurutrurqfnnru\urh \nrpfhnpn2durl:
Errnurnr rarnr bhhn

UU +Fluti 80000 640,0 8

79637400 Uurutrurqlnnur\ruh \nrldtrnpn2durh
burnrurntrarmhhhn

uu 11Furd 40000 480,0 L2

Qtrnurdhbn t0997.2

CLnurlhtrn 29 573,0


